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1. If the matrix [𝑎 𝑏𝑐 𝑑] is commutative with the matrix [1 1
0 1], then

a)𝑎= 0, 𝑏= 𝑐 b)𝑏= 0,𝑐= 𝑑 c) 𝑐= 0,𝑑= 𝑎 d)𝑑= 0,𝑎= 𝑏
2. If 𝐴= [

1     2 ― 1
3      0     2
4     5    0 ]and 𝐵= [

1  0  0
2  1  0
0  1  3],then 𝐴𝐵 is equal to

a) [
5    1 ― 3
3     2     6
14    5     0] b) [

11   4   3
1    2   3
0    3   3 ] c) [

1   8   4
2   9   6
0   2   0] d)[

0   1   2
5   4   3
1   8   2]

3. Let 𝐴 be a skew-symmetric matrix of odd order, then |𝐴| is equal to

a)0 b)1 c) ―1 d)None of these

4. If 𝑃= [ 3 2 1 2―1 2 3 2], 𝐴= [1  1
0  1]and 𝑄= 𝑃𝐴𝑃𝑇, then 𝑃𝑇𝑄2005𝑃 is

a) [1    2005
0        1 ]

b) [1          2005
2005        1 ]

c) [ 1         0
2005     1]

d)[1    0
0    1]

5. If 𝑋 and 𝑌 are 2 × 2 matrices such that 2𝑋+ 3𝑌= 𝑂and 𝑋+ 2𝑌= 𝐼, where 𝑂 and 𝐼 denote the 2

× 2 zero matrix and the 2 × 2 identity matrix, then 𝑋 is equal to

a) [1  0
0  1] b) [2  0

0  2] c) [―3  0
0 ― 3] d)[3  0

0  3]

6. Consider the system of linear equations𝑥1 + 2𝑥2 + 𝑥3 = 3

2𝑥1 + 3𝑥2 + 𝑥3 = 3

3𝑥1 + 5𝑥2 + 2𝑥3 = 1

The system has

a) Infinite number of solutions b)Exactly 3 solutions

c) A unique solution d)No solution
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7. If 𝐴= [𝑥   ― 2
3       7 ]and𝐴―1 = [

7

34

1

17―3

34

2

17
], then the value of 𝑥 is

a)2 b)3 c) -4 d)4

8. If A=[
0     0 ― 1
0  ― 1    0―1     0     0]. The only correct statement about the matrix 𝐴 is

a)𝐴 is a zero matrix b)𝐴= (― 1)𝐼, where 𝐼 is a unit matrix

c) 𝐴―1does not exist d)𝐴2 = 𝐼
9. The inverse of the matrix [1 3

3 10] is equal to

a) [10 3
3 1] b) [ 10 ―3―3 1 ] c) [1 3

3 10] d)[―1 ―3―3 ―10]

10. If 𝐴= [
1 2 ―1
3 0 2
4 5 0 ], 𝐵= [

1 0 0
2 1 0
0 1 3], then 𝐴𝐵 is equal to

a) [
5 1 ―3
3 2 6

14 5 0 ] b) [
11 4 3
1 2 3
0 3 3] c) [

1 8 4
2 9 6
0 2 0] d)[

0 1 2
5 4 3
1 8 2]

11. If 𝐹(𝑥) = [
cos𝑥 ― sin𝑥 0
sin𝑥 cos𝑥 0

0 0 1]and 𝐺(𝑦) = [
cos𝑥 0 sin𝑥

0 1 0― sin𝑥 0 cos𝑥], then [𝐹(𝑥)𝐺(𝑦)]―1 is equal to

a)𝐹( ― 𝑥)𝐺( ― 𝑦) b)𝐹(𝑥―1)𝐺(𝑦―1) c) 𝐺(―𝑦)𝐹( ― 𝑥) d)𝐺(𝑦―1)𝐹(𝑥―1)

12. Let A=[ 1 2―5 1]and𝐴―1=𝑥𝐴+ 𝑦𝐼, then the value of 𝑥 and 𝑦 are

a) 𝑥=
―1

11
, 𝑦=

2

11
b)𝑥=

―1

11
, 𝑦=

―2

11
c) 𝑥=

1

11
, 𝑦=

2

11
d)𝑥=

1

11
, 𝑦=

―2

11

13. If 𝐴𝑇, 𝐵𝑇are transpose matrices of the square matrices 𝐴 ,𝐵 respectively, then (𝐴𝐵)𝑇 is equal to

a)𝐴𝑇𝐵𝑇 b)𝐴𝐵𝑇 c) 𝐵𝐴𝑇 d)𝐵𝑇𝐴𝑇
14. If [

𝑥+ 𝑦+ 𝑧𝑥+ 𝑦𝑦+ 𝑧 ] = [
9
5
7], then the value of (𝑥,𝑦,𝑧) is

a) (4, 3, 2) b)(3, 2, 4) c) (2, 3, 4) d)None of the above

15. If 𝐴= [ 𝑎𝑏       𝑏2― 𝑎2  ― 𝑎𝑏], then 𝐴 is equal to

a) Idempotent b) Involuntary c) Nilpotent d)Scalar

16. For non-singular square matrices 𝐴, 𝐵 and 𝐶 of  the same order, (𝐴𝐵―1𝐶)―1
is equal to

a)𝐴―1𝐵𝐶―2 b)𝐶―1𝐵―1𝐴―1 c) 𝐶𝐵𝐴―1 d)𝐶―1𝐵𝐴―1
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17. The matrix [
𝜆 ― 1    4―3   0    1―1    1    2]is invertible, if

a) 𝜆 ≠ ―17 b)𝜆 ≠ ―18 c) 𝜆 ≠ ―19 d)𝜆 ≠ ―20

18. If 𝑎, 𝑏, 𝑐 are non-zero, then the number of solutions of following system of equation is

2𝑥2𝑎2 ― 𝑦2𝑏2 ― 𝓏2𝑐2 = 0…(i)― 𝑥2𝑎2 +
2𝑦2𝑏2 ― 𝓏2𝑐2 = 0…(ii)― 𝑥2𝑎2 ― 𝑦2𝑏2 +

2𝓏2𝑐2 = 0…(iii)

a)6 b)8 c) 9 d) Infinite

19. If 𝐴= [ 1 log𝑏𝑎
log𝑎𝑏 1 ], then |𝐴| is equal to

a)1 b)0 c) log𝑎𝑏 d) log𝑏𝑎
20. If 𝐴= [1  2

3  4], then 𝐴―1is equal to

a) ― 1

2[ 4  ― 2―3     1] b)
1

2[ 4  ― 2―3     1] c) [―2      4
1       3 ] d)[ 2      4

1       3]
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